38.009

FEx= 3060.0#

3.0

FOF=394

FBy= 2482.64

47.680

IME=(FB,*47.680") + (FB*38.009") +(FCA*25.470") + (FDF¥17.709")=0
(—2200.14*47.680") + (2482.64*38.009") +(3155.3#*25.470) + (—FDF#*17.709")=0

69826.0"# + (-FDF§*17.709")= 0
—(—FDOF#%17.708") —(-FDF#*17.709")

69826.0"# = —FDF#*x3+7709"
17.769"

17.709”

3943.04 = —FDF#
—3943.04 = FDF#

IFE=FBx + FCAx + FDFx + FEx=0
+ (3155.3#% COS 58.841°) + (3943.04#*C0S7.4168") + (—FE)=0

—2482.64
3060.0"# + (-FE)= 0O

- (-F&) - (-FEQ
3060.0"# = —FEx

—3060.0"# = FEy

SFY=FBy + FCAy + FDFy + FE,=0
2200.1# + (—3155.3#*SIN58.841) + (3943.0#*SIN7.4168") + FEy=0

8.9877# + FEy= 0
—FEy —FEy

8.98774# = —FEy

—8.9877# = FEy



